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4th Grade

Spiral Assessment Test 2
Part 1

1. Mr. Karros is buying 2 digital cameras for the yearbook club.  The price of each camera is $259.  What is the total price of the cameras?


A)   $408

B)   $418

C)   $508

D)   $518
2.  An art store has 5 boxes of brushes.  Each box contains 298 brushes.  Which expression shows a strategy for finding the product of 5 x 298?


A)   5 x (300 + 2)


B)   5 x (300 – 2)


C)   5 x (300 x 3)


D)   5 x (200-90)

3.   Which shows the best estimate to use to find 52 x 67?


A)  50 x 60 = 3,000

B)  50 x 70 = 3,500

C)  55 x 65 = 3,375

D)  52 x 100 = 5,200
Go On
4. Omar started his math homework at 4:20 p.m. and finished his math homework at 4:44 p.m.  For how long did Omar do his math homework?

A)  14 minutes

B)  24 minutes

C)  26 minutes

D)  34 minutes
5.  The population of Miguel’s hometown is 23,718.  What is 23,718 rounded to the nearest thousand?


A)  20,000


B)  23,700


C)  24,000


D)  30,000

6.  A store has 2 times as many hooded sweatshirts as crewneck sweatshirts.  The total number of sweatshirts is 36.  How many crewneck sweatshirts does the store have?
A)  12


B)  24


C)  36


D)  38

7.  Ariana drew a polygon with 5 sides.  What is the name of the polygon she drew?


A)  octagon


B)  pentagon


C)  hexagon


D)  triangle

Go On
8.  Customers bought 52 shirts for $28 each.  What is the total amount they paid for the shirts?


A)  $1,040


B)  $1,046


C)  $1,440


D)  $1,456
9.  Doug rents a kayak for 12 days.  The rental charge is $18 per day.  Which is the best estimate for the total cost of the kayak rental?  

A) about $400
B) about $200
C) about $160
D) about $120

10.  Tony makes a tile design with square tiles.  He wants 4  of the tiles to be red.
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Which fraction is equivalent to 4 ?

                                       8

A) 1
4

B) 1
3

C) 1
2


D) 3
4



 
11. Madeline has 32 shells.  This is 4 times as many shells as Rob has.  Which equation represents how to find how many shells Rob has?


A)  32 = n + 4


B)  32 = 4 x n


C)  32 + 4 = n


D)  32 x 4 = n

12.  Darla copies her uncle’s address and phone number into her contact list.  His area code is 775.  His ZIP code is 89507.  Which statement about the value of the 5 in 775 and 89,507 is true?
A) It is the same in both numbers.
B) It is 10 times as great in the ZIP code than it is in the area code.
C) It is 100 times as great in the ZIP code than it is in the area code.
D) It is 10 times as great in the area code than it is in the ZIP code.           
13.  Dane has a stamp collection.  In one book he has 6 pages with 15 stamps on each page.  In another book he has 9 pages with 20 stamps on each page.  He gives 25 stamps to a friend.  Which of these equations can Dane use to find how many stamps he has left?


A)  (6 x 15) x (9 x 20) – 25 = n

B)  (6 x 15) + (9 x 20) – 25 = n

C)  (6 + 15) x (9 + 20) -25= n

D)  6 + (15 x 9) x (20 + 25) = n

14.  Gerald had 128 songs stored on his portable music player.  He wants to triple his music library.  How many songs will Gerald have?
A)  131

B)  328

C)  384

D)  3,128
15.  The tollbooth records show that 105,076 cars passed through the toll plaza on Saturday.  What is the expanded form of 105,076?
A) 10,000 + 5,000 + 70 + 6
B) 100,000 + 5,000 + 60 + 7

C) 100,000 + 50,000 + 7 + 6
D) 100,000 + 5,000 + 70 + 6
16.  A traffic survey showed that 1,048 cars passed through an intersection in one hour.  Which is the best estimate for how many cars will pass through the intersection in 8 hours?


A)  800

B)  1,000

C)  8,000

D)  10,000
17.  Beth travels 244 miles every week.  She says she will travel 2,196 miles if she travels the same number of miles for the next 9 weeks.  Which statement best describes the reasonableness of Beth’s answer?
A)  The answer is reasonable because it is close to the estimate of 

                9 x 2,000.


B)  The answer is reasonable because it is close to the estimate of 9 x 300.

C)  The answer is reasonable because it is close to the estimate of 3,000.
D)  The answer is reasonable because it is between the estimates of 1,800   
      and 2,700.
18.  Last season, 57,690 fans went to football games at Oneida High School.  This season 54,083 fans went to the games.  What is the total number of fans who went to Oneida High School football games during both seasons?  
A)  3,607


B)  110,673


C)  111,773


D)  112,673
19. Students arranged 13 chairs in each of 32 rows for the school play.  What is the total number of chairs the students arranged?


A)  300


B)  320


C)  384


D)  416

20. Hasan uses a ruler to draw a square.  The perimeter of the square is 16 inches. 
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What is the length of one side of the square?

A)  64 inches

B)  10 inches

C)  8 inches

D)  4 inches

21.  A large truck that can carry up to 168 boxes in a single trip will make 6 trips in one day.  Which expression shows how to multiply 6 x 168 by using place value and expanded form?

A) (6 x 100) + (6 x 60) + (6 x 8)
B) (6 x 800) + (6 x 60) + (6 x 1)
C) (6 x 100) + (6 x 60)
D) (6 x 168) + (6 x 16) + (6 + 1)


22.  Grandma has 30 pages in her photo album.  Each page has 2 rows with 5 pictures in each row. How many pictures are in Grandma’s album?
A)  10

B)  37

C)  150

D)  300
23.  Ben swam laps in a pool nonstop for 11 minutes.  There are 60 seconds in 1 minute.  What is the total number of seconds Ben swam?
A)  6,600 seconds


B)  710 seconds


C)  660 seconds


D)  600 seconds

24.  A black bear has a mass of about 135 kilograms.  Which is the best estimate of the mass of 3 black bears?

A)  less than 300 kilograms

B)  between 300 and 600 kilograms

C)  between 600 and 900 kilograms
D) more than 900 kilograms 






Part 2 – Short and Extended Responses
25. All the seats in two sections of a movie theater are occupied.  In one section, there are 8 rows with 18 seats in each row.  In the other section, there are 12 rows with 6 seats in each row.  How many people are seated in these two sections of the theater?

Show your work.

___________________ people

26.  East Meadow has 24,585 residents.  Merrick has 27,166 residents.

Part A: About how many residents to the towns have altogether?

Show your work.

________________ residents

Part B: What is the total number of residents the towns have?

Show your work.

________________ residents

Part C: How do you know that your estimate is reasonable?

______________________________________________________________

______________________________________________________________

______________________________________________________________
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Answer Key 
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25.  216 people
8. D




26.  (A) 50,000 residents
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       (B) 51,751 residents  
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       (C)  Possible: I know my estimate 
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             residents is 51,571.  This is close
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  to my estimate of 50,000 residents.
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23.  C
24.  B 
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